sT Qu
\0\’& 4<’)~

J X
INDUSTRIAL
ESSENTIALS

3D-STEP BONNEKAMP
DOWNLOADS MECHANICAL COMPONENTS



Sl

Part No.

SI5
Sl é
Sl 8
SI10
S110 MF
Sl 12
Sl 12 MF
Sl 14
Sl 16
Sl 16 MF
Sl 20
SI 20 MF

Part No.

SA5
SA 6
SA 8
SA 10
SA 10 MF
SA 12
SA 12 MF
SA 14
SA 16
SA 16 MF
SA 20
SA 20 MF

MAINTENANCE-FREE

10
10
12
12
14
16
16
20
20

10
10
12
12
14
16
16
20
20

d3
6H

M5 x 0.8
M6 x 1.0
M8 x 1.25
M10x 1.5
M10x 1.25
M12 x 1.75
M12 x 1.25
M14 x 2.0
M16 x 2.0
M16x 1.5
M20 x 2.5
M20 x 1.5

d3

69
M5 x 0.8
M6 x 1.0
M8 x 1.25
M10x 1.5
M10 x 1.25
M12 x 1.75
M12 x 1.25
M14 x 2.0
M16 x 2.0
M16 x 1.5
M20 x 2.5
M20 x 1.5

12
14
14
16
16
19
21
21
25
25

SA

6.75

10.5

10.5
12
12

135
15
15
18
18

6.75

10.5

10.5
12
12

13.5
15
15
18
18

14
17
17
19
19
22
22
22
30
30

min
19
21
25
28
28
32
32
36
37
37
45
45

AVAILABLE » 4|51 E =)

SS 304

Sl
B
[of d.
Ris
JELE W D)
Y
g\za
Le
hi
Ls
| || ><1] L
|.ds | d
w ds
Dimensions (mm)
h, d, L, Ly d,
27 18 36 4 8.5
30 20 40 5 10
36 24 48 5 12.5
43 28 57 6.5 15
43 28 57 6.5 15
50 32 66 6.5 17.5
50 32 66 6.5 17.5
57 36 75 8 20
64 42 85 8 22
64 42 85 8 22
77 50 102 10 27.5
77 50 102 10 27.5
Dimensions (mm)
d, L, h L,
18 33 42
20 36 46
24 42 54
28 48 62
28 48 62
32 54 70
32 54 70
36 18 60 78
42 21 66 87
42 21 66 87
50 25 78 103
50 25 78 103

11
13
16
19

19
22
22
25
27
27
34
34

SS 316

11.11
12.70
15.875
19.05
19.05
22.225
22.225
25.40
28.575
28.575
34.925
34.925

11.11
12.70
15.875
19.05
19.05
22.225
22.225
25.40
28.575
28.575
34.925
34.925

10
12
16
20
20
22
22
25
28
28
33
33

0.3
0.3
0.3
0.3
0.3
0.3
0.3
0.3
0.3
0.3
0.3
0.3

13
13
14
13
13
13
13
16
15
15
14
14

13
13
14
13
13
13
13
16
15
15
14
14

Weight (kg)

Weight (kg)

Ko~
0.013
0.020
0.038
0.055
0.055
0.085
0.085
0.14
0.21
0.21
0.38
0.38




DIN71752 / DIN IS08140 / CETOP

Part No.

d, g a,

Ho 0.5 ni1
G5x10 5 10 10
G5x20 5 20 10
G6x12 6 12 12
G6x24 6 24 12
G8x 16 8 16 16
G8x32 8 32 16
G 10 x 20 10 20 20
G10x20MF 10 20 20
G12x24 12 24 24
G12x24MF 12 24 24
G 16 x 32 16 32 32
G16x32MF 16 32 32
G 20 x 40 20 40 40
G20x40 MF 20 40 40

o o o O O

10
10
12
12
16
16
20
20

Assembly parts available

2

AVAILABLE » 4|\ [51 =)

Dimensions (mm)

d

2

o o O O O

10
10
12
12
16
16
20
20

Adm.
Variation

B13
B13
B13
B13
B13
B13
B13
B13

+0.7
+0.15

+0.7
+0.15

+0.7
+0.15

+0.7
+0.15

+0.7
+0.15

+0.7
+0.15

Regular thread Fine-pitch thread
M5 x 0.8
M5 x 0.8
M6 x 1
M6 x 1
M8 x 1.25
M8 x 1.25
M10 x 1.5
M10 x 1.25
M12 x 1.75
M12 x 1.25
M16 x 2
M16 x 1.5
M20 x 2.5
M20 x 1.5

bevelling 30° +£15°

W
|\/R2 ((@%*4*****6 <
\ T / |
d, 3
j_#,
l,
cone head 9
sl =
1X45°
or R1 max
Weight (kg)
f I, I, I, r

02 05 vadm. 102 Kg=
0.5 26 20 03 75 0.5 0.009
0.5 36 30 =03 75 0.5 0.013
0.5 31 24 £03 90 0.5 0.015
0.5 43 36 04 90 0.5 0.021
0.5 42 32 +04 120 05 0.037
0.5 58 48 +04 12.0 05 0.054
0.5 52 40 +04 15.0 05 0074
0.5 52 40 +04 15.0 05 0.074
0.5 62 48 +04 180 05 O0.121
0.5 62 48 +04 180 05 0.121
1.0 83 64 +£04 240 1.0 0282
1.0 83 64 +£04 240 1.0 0282
1.0 105 80 +04 300 15 055
1.0 105 80 +04 300 15 055

ES



gsﬁNNEKAMP
_/

DIN71752 / DIN IS08140 / CETOP AVAILABLE »

bevelling 30° +15°

r r
W
JEl 0y T
\ T / |
d, 3
j_#,
L
cone head 9
1X45°
or R1 max
Part No. Dimensions (mm) Weight (kg)
d, g a, a, b, b, d, d, f I l, I, r
Ho 05 h11 080 B3 yhdm. | Regular thread Fine-pitch thread ~ +0.3 202 05 vam. 502 Kg~
G5x10 5 10 10 10 5 5 B13 M5x0.8 9 0.5 26 20 +03 7.5 0.5 0.009
G5x20 5 20 10 10 5 5 B13 M5x0.8 9 0.5 36 30 +03 7.5 0.5 0.013
G6x12 6 12 12 12 6 6 B13 M6 x 1 10 0.5 31 24 +03 9.0 0.5 0.015
G6x24 6 24 12 12 6 6 B13 M6 x 1 10 0.5 43 36 +04 9.0 0.5 0.021
G8x16 8 16 16 16 8 8 B13 M8 x1.25 14 0.5 42 32 +04 120 0.5 0.087
G8x32 8 32 16 16 8 8 B13 M8x1.25 14 0.5 58 48 +04 12.0 05 0.054
G 10 x 20 10 20 20 20 10 10 B13 M10x 1.5 18 0.5 52 40 +04 15.0 05 0.074
G10x20MF 10 20 20 20 10 10 B13 M10 x 1.25 18 0.5 52 40 +04 15.0 05 0.074
G12x24 12 24 24 24 12 12 joc?fs M12 x 1.75 20 0.5 62 48 +04 18.0 0.5 0.121
G12x24 MF 12 24 24 24 12 12 jo(?fs M12 x 1.25 20 0.5 62 48 +0.4 18.0 0.5 0.121
G 16 x 32 16 32 32 32 16 16 j(?fs M16 x 2 26 1.0 83 64 +0.4 240 1.0 0.282
G16x32MF 16 32 32 32 16 16 j&?s M16 x 1.5 26 1.0 83 64 +0.4 240 1.0 0.282
G 20 x 40 20 40 40 40 20 20 9L M20x25 34 1.0 105 80 +04 300 15 055
G20x40MF 20 40 40 40 20 20 oL M20 x 1.5 34 1.0 105 80 +04 300 15 055

Assembly parts available

GPA GPA-R GPA-C



DIN71802

Dimensions (mm)

AVAILABLE » 74/\[5 2 Ey1E0)

SS 304

SS 316

gséNNEKAMP
_/

d o !
% —
ol
° SWU
=0

Weight (kg)
kg/1000 pieces

CS 8 M5

CS 10 M6

CS 13 M8

CS 16 M10

CS 16 M12

CS 19 M14 MF

CS 19 M14

CS 19 M16 MF

CS 19 M16

10

13

16

16

19

19

19

19

M5 x 0.8

M6 x 1

M8 x 1.25

M10x 1.5

M12 x 1.75

M 14 x 1.5

M 14 x 2

M16 x 1.5

M 16 x 2

20.0

20.0

28.0

28.0

28.0

28.0

Dust protection?
Ask us!

20

20

20

20

min.

10.2

14.0

15.5

15.5

+0.3

22

25

30

35

35

45

45

45

45

h14

16.20

25.20

53.10

103.8

103.8

220.9

220.9

220.9

220.9



Authorized distributor

BONNEKAMP

MECHANICAL COMPONENTS

© 2022-03 Product-, image- and data changes reserved.



